Acrolein
Response Ratio
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Response = 1.251e-002 * Amt + 8.949e-003
Coef of Det (r®2) = 0.993642 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA Y\methods\82Y061522S.M
Calibration Table Last Updated: Thu Jun 16 02:54:06 2022
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Methyl Acetate
Response Ratio

1.1+

o® I I I

0 0.5 1 1.5
Concentration Ratio

Response = 3.530e-001 * Amt + 2.690e-002
Coef of Det (r®2) = 0.996937 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA Y\methods\82Y061522S.M
Calibration Table Last Updated: Thu Jun 16 02:54:06 2022



Methylene Chloride
Response Ratio

(0 4 I I I

0 0.5 1 1.5
Concentration Ratio

Response = 5.581e-001 * Amt + 3.408e-002
Coef of Det (r®2) = 0.999840 Curve Fit: Linear
Method Name: Z:\voasrv\HPCHEM1\MSVOA Y\methods\82Y061522S.M
Calibration Table Last Updated: Thu Jun 16 02:54:06 2022





